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O 2 BOca0en s0oasn oS00350

& @Q Concept and Formulas ]

Law of INDICES p

@* aAXaxXxa¥:------.M -Hm% —_ qﬂ

¥ aMx a"xaP = MN+P (a#0)

20 = 2™ (mvn)

a:;-m (nrm)

= 4 (m=n)
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*- a®= 1
* ol =& (a#o)

~1) i . n —
* a’ = ,n & a TQJ:';

m _ b \~M

SNCORENES
* (=D" = +1 (n= even)

—3 C(n= odd)

i Objective Type Questions
With Solutions...

1. If (3% + 38 + 3%)(2% + 23%) = 6x, then, what is the value of x?
1) 34 2) 35 3) 33 4)33.5
n.v 11= 34
2. 1§8%° 327—4X thenx =?
1 16 ) 20 3 25 02
) 9 ) 11 ) 13 )
5 \3X-5 _ t qQx—15
(2 ) - L 5) 1FYxX = = —
9 235—:&&1
qQx-15 v
2 = 2 Y x -5 = 20%x—35
X = 20
1
3. If 62533 = 2561148 ,then x = ?
1)2 2)3 3)4 4)5
18 yx-&
i 25 = .:vs":3 S X6 =6
x=32
4. If 21 = 4X | then find the value of 16
1)3 2)2 3)4 4)5
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gl o % s s max & A=l o oxsl

6% = 21 s STE 2,
5. If 2xv2z = 885y Béybz = phy+z 33y = 9« then the value of 2x+3y+5z is:

1) 56 2) 44 3) 32 4) 28

g ¥YT_ 3T-s-y) | g¥-cz_ a(yre)| g3 _ RYESD)

S xXtY-22 = Yz -15-3% |4Y-6z=2Y+2Z yx-3z = 2X+2Z
. XtUY-aéz= -15 Y= 4qz <X = 5Z
3 Xe _gz
_g_z +18z2—-262=-I5 J=8 L
‘;31'51 = =5 :(z_gxl

=2

2x+3Y+52 = 10+ 24+lo= |44

X 5a-3 y 17-3a
6. |If (;j = (;j , what is the value of a?

1) -6 2) 5 3)-7 4)-8
< B-5a = |7-3Q A fad= %

5
7. If (XX)Z — x**, then x equal t0?

o

125 ) 625 5 .
64 256 ) )

% Y S

.. ...’é.x = 4=
= X

o = ;Jxxi > 5 w8 oy (x#:)‘*zef_f*

NGNS,

4-

_ (625
» L= |Fse

8. If XV I(X\/;)X, then x equal to
1) 4/9 2)16/9 3)3/2 4) 9/4

— °
Ze)) Harshith Institute \




¥
¢ *y

P ‘Aashrith Publication (02 I I Su rds & Indlces §'
£
XK = w'xx® = 52
3
= B\ PO a3 =
B = (&)= o= T

9. If3x+y=8land8lx-y =3, thenxxy="7?

255 125 240
64 12 64 4) None
Bsd-a - 34- % T-Y) "
. Lt = 4 A= 1 ) = 5
X Ejd <= " s 255
il B = = U 15 _ A8
any = LIxgZ = |S5E
10. If 8 _g12" thenx =7
2% 52 23 = 2% 5a
8 8 _ 92
3 = g8l s 3 - QS ) - 3& = 34"2
2X 2 25% 23 Ex+2
2 %2
2 = 3 - & = 3* 5P S P e
5X+2 [AY
> 3 =@ L ex=Bxta T [X=2
3a+3 % 4a+6 % 25a+1 4 -
1. 1If 97A T g 2 1257 155 then the value of \/a+9 is:
a+é
4 - 20+12
a-x~ + SN =4 — Z—QHS -
8 ,3a-6 =

S —atHg=2 .. a=\6 -‘-\EIG*"I = E

-6
(3x+7) |5

2 3 (2x+3) |4 5 g
12. {(g) } - (gj , then the value of /2 —42x is:
1)5 2)6 3)3 4)4
— %
3*@"‘3) C—".‘?_—j — %XC31+.1) (_:gj
-> Qox+|38 =48%+112 1 gax= —23 - Jzv2z = [5]

o ®
¢ Harshith Institute \
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13. If x and y are natural number such that x + y = 2021, then what is the value of (-1)* + (-)»?
X $0B05 Yen $siees Soggen X +Y = 2021, e@ond (1) + (-1)y="?

(@) 2 (b) -2 (€0 (d)1
X + = 2021 X4 oc—1»d
Tv 4 - D™ + 1D

even  odd odd = +i-1 = [o]

14. If

n\ 2
9“x32x[32] —(27) .

3" x 2° 729
1)3 2)1 3)2 4) -2

, then m-n =?

18}
UL o - B P32 35>
W =" xa®

=1 | |

> B (T 5 —gmm® 7
3mM 3 =
M« 38

3m-3n=6 & |MND=2
()" <(9)"
15. The value of (81)4'2 ><(3) is
13 2)6 3)9 41
1 54 5.4
2 2 l_ x 3 yt 2
al®®  E T T aT ey £ 3\ =[]

16. Find the square root of

1) 7+443 2) 4415 3) \/61+28V3 4) 139-80+/3
5) 74-12/30
Wh+eE = (@+8) FT>EDx 2
o
(B) .!++ s !3+2J‘3 %
U = T
= Js +id=3
J=
© [er+2813 = (+28) W[TH@D* KT
o
-1 2J3

q Harshith Institute "\
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°
® [139-8053 =(558-8)  goma@ExsrexT
‘5/\_*_, g
] B8)
& + 15
€) [r-1273 = (36-28) japm 2@ x 2x3X(FHE
../\E
28 3 -y
26 + 54=
17. \J6-+/35 =2
1 1
) J5(7- ) 2 35517
1 1
3 4 (V7-5) 9 4 (V7+3)
le- 55 z\ll%i@ al35 5 » [ExIT
Ly |F-JI6
Jz
—1 -
18. The value of 7_4\/5 is closet to:
1)1.2 2)4.1 3)4.2 4)3.7
| I
T = —_— > 9 5 <
s >y +{3 > 1+|‘139.=r
1
19. The value of \/m is closet to....
1)1.4 2)1.2 3)0.14 4)0.17
|
- |
= 122> 6
J1T+1232 34+ 23 @ ,{i
= q 252
Ls 23— 22 = 23—-2.82 o a 8
14 _
20. The value of \/m is closet to:
1) 1.762 2)1.414 3)1.823 4)1.516

!'l? '
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43+307Z7 = (5+3J2) 30JZ-3 (D% 3% 5 AJZ
14— "4 (5-3T3) m)’-
5+ 3J2 = = 25 18

Ly 10-6J3 = lo— 8484 = [I'516)

21. The value of \/9—2‘/11—6«/5 is closest to:

1)2.7 2)2.9 3)2.4 4)2.1
I HW—6ln = (=-12) 6lZ2= PDr axJ3
3@)2_-_— 1]
! qQ-2(3-11) = ]‘3-!-—9..15

b (Z+) =

22. If \/10_2@ +\/8+2\/E — Ja ++/b . where a and b are positive integers, then the value of
Jab is closest to
1)5.9 2)6.8 3)4.6 4)7.2

|I0-2J'2_.T = C-Fi"ﬁ) 3 |3+21T5‘ =CJ'5—'+J"3‘)
- ﬁ-—@‘-ﬁ—ﬁ*—ﬁ‘: I +Jb

JT+I5 =Ja +I6 -~ Job = 3% e::
23. The value of \/28+10\/§ _\/7_4\/5 is closest to:
1)5.8 2)6.5 3)6.1 4)7.2

5453 - (2-13) » 3+ 2J% > 3+3-4 = [63)
24. 1f \/11-38 =a+Db+/2, then what is the value of (2a + 3b)?
1)5 2)7 3)9 4)3
W-318 = 3-J2 38 = 3x2Z=@x3xZT
3-J3 = a+bdz 3‘/3

a=3, b=-4 & (20+3b)= 6-3 =
25. If \/86—60+/2 = a—Db+/2 » then what will be the value of /32 4+ p? , correct to one decimal place?
1)8.4 2)7.8 3)8.2 4)7.2
86~ 6od2

il

5l2-¢ 60JT = DrBEXx6XZ

5J3-6 = a-bJlZ 62 (582)°

36 + Eo =86

— °
Ze)) Harshith Institute \
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°
Q= =8 .!Q’—i—bl: ~|36+.'2'5 = J—G—l ® ]-[.g
b=-5 '

26. If x:\/—\/§+«/3+8V/7+4\/§ , Where x >0, then the value x is equal to:
1)2 2)3 3) 4 4)1
J+am = 243 - [3¥s(2+0) =Jla+csE

- — IN
1,1 (o] VIA- )a
27. The value of (9_4\/5)2 (9+4\/§)2 is: R My
1)322 2) 424 3) 246 4) 286
QQ++I§_)2'+ Cq—ﬂ"s‘r = (a+b) 2+ (a-b) = 2(a%b?)
+ = )% (a-b)2= 40b
Ly 2(81+80) = [322 |
V11
J7+43 -/28+103 +
28. =?
\/20+6\/1_1+\/20—6x/1_1
1 21 2 21 3 31 4 31
)25 )25 )33 )33
24 & - (5+3F) + _fir
AW+ (-2
¥ —z+Ll > - 2l |
62 +7° +8%+97 +10°
29. =?
\/7+4\/§—\/4+2\/§
1) 330 2) 305 3) 355 4) 366
330 = 530 = 23D
2+ B —(FH+) !

30. If ﬁ5+\/@+ 84 ++/140 =+/a ++/b ++/c , then the value of a + b + ¢?

1)5 2) 20 3)10 4)15
|¢5 + J60 + B4 + [i40
N2 N2 J

atbtrc 2XI5X3  2x@xA  2xJTxJ5

— °
Ze)) Harshith Institute \




* Ky
¢ *y
{gi@\vép

o st Pubcation (02 Surds & Indices §.

LA+ +Je =2 5+8B +8
a+b+c = |5 2 Qbc= BXA3XT = 405

31. The expression \/10+2(\/€—\/1_5—\/1_O) is equal to:

1) V3-v2-+5 2) 32+
3) V2-3-15 4) J3+2-5
By eptisn vexification, 6\1 11\\%
q o 2
—ve Siﬁn in gplact -5 4 -1p %\Vi;lsc’/:/
o (@)X bpHoNi4 (cHx OFHUYTBEW Uﬂ@"""} X~

( because in betwun 3 >vc'8;‘g»m Wil not be

i~ ADA .
r/lLL(/L)ﬂ

e
j—Tl%: N]?:j_i] NS 1S Common .5 --ve

but in option (i) NE s given tve
So oplii) x

Soop OV B lovyect

32. What is the square root of 23+ 4410 -10+/2 -85 ?

1) J5+10-242 2) J5+24/2 +10
3) /5 -V10+ 242 4) 22 —\[15+4/10
+ve = «4[o (B X = al 4ve)

(@ muthply @) > J5xJo = J50 # +fic Cax)
© JEx277 5 2Iwx2 > 476 =4J° (cV)

33. If \/244 4421 - 2435 — 415 +/21+8V5 =Ja + /b + Jc thena@® + b2 + ¢ =2

1) 449 2) 330 3) 705 4)593
24 4+ 4J2T - 238 - <4Jis
J J +
@x2xFTxB  @OxAXE (@Dx 2x 3 x5
23 7 JT J5 5 2J3

T .
%9 Harshith Institute \
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. 2J§+ﬁ—/[?+Cq-+/jé)
Ly 23+ +4 = Ja+ b+ T

Ly JT:—.-!-J_'T-{-JTG—:E'FJE'PJE

024162 +c? = 122412+ 16T =

(V3+45)(5+42)
NTN-EN

34.

1) (V2+3+5) 2) 2(V2+3+15)

3 7(V2++3+45) 4 5(V2+3+B)

3 5 4 PBEIXIFT2, 4 26
53 3

s & 222 <. aption (4) g 26

35. If h x >
. —_5_ , T ~
x=5-y21 then o= o1

DHEN) ) g HWTE) (T

.I5'-J':.—|' 9 5—J7 "l ls_m
.la_z-}-zm- ,[71(-+l—,¢

10— 2]Jz27 A -3
V.1 ¥ Jz

\26-153

36 =?
" 5J2-+/38+5V3

g

1
1) 2 25 3) 3 4)

Nl

.
3 Harshith Institute \
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muply by J2 in Num £ pen

Ba—
J52— 2x 1583 =5 3]3-5 _,,ﬁé-ﬁ‘é) -

e
lo - [Re+zxsg 10— (58D = (a5 932
15(J1_0+J§)
37. The expression is equal to:
' V10420 +v40 580 Y
1) 5422 2) 5_2.2 3) 5(3+22) 4)10(3+2v5)
15 Jio +J5) > ST IE)
Jic + 2085 + 2B —J5 - +I5 35 — 375
> 5E+s) , gFUR+E-JE+iE) (7 wD)*
(Jis - 48) z
-
15 .
3. i0+20+40 5o ' 'f\5=2236 and 103162
1) 5.498 2)5.398 3)6.398 4) 3.498
15
P 15 5> N
Jio+2J5 + 25 -5 405 3{c-3Js  Jiels

Ly (B‘x Jio+J5 > Je +Js > 3.162 + 2.236 = 529
. — B ’ 8
-

45 + /605 ++/245

39. Let X= \/_ 6— and Y= \/%4_\/12—5 , then the value of x2+ y? is:

2 ! , 24 22
) 9 )36 ) 9 36
x= J3 - 33 = "f‘ = 3F+IE+WE_= 1
—= » 2T N T 3
e 4-J5 + sJI%
x4y2o 2oa 3 = [223
- 4 3 36

W1 5B 2442 _
0 BNz V24T NTB

FIT (5-53) _ gE(G-2) , A5 (Ff-15)
» A
e J;é“ﬁ_";é "'ﬁt’: ""F"‘EX = @ = Ans will be o oR in »oot:
T  J
€ Harshith Institute \
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8+ 2/3
= \/§—b, then the value of a+b is equal to:

" 3B+s
1) 18 2) 15 3) 16 4) 24
L@»+aﬁ)(35§:_5_27# (8+23) (5@-5‘2 7 (4+53) (355~ 5)
BBt (355 T2 -
= I3BZ-1l = al3-b Q+b= THIU= I8
42 ! + ! + ! + ! +....+;:?
D 1442 V2443 V3444 Va+B /99 ++/100
1) 10-+/99 2) \2-10 3)7 4)9
$oL o fofir ffafh g g R
~l+Jlo0 = =—I+10=
S S SR | L1
43 7100 V99 V09 OB Jog_vor o7 6 V21
1)10 2)9 3)11 4) 12
W-l—ﬁﬁ-ﬁ‘ W \[/?,{1.5;1‘ j—/y- 4 F |
Jieo +1 =
44, If 2= 5—2\/6 , then x?(x-10)2 = ?
1)1 2) -1 3)2 4) 2
X= 5+2J6 %2 (x-10)”
x-5 = 2J > [x(x-—w)]z
x2-jox +25 = 24 Ly (X2tox)
S LAN)* =

If Xy is a rational numb d+\/1—1—X+yx51th find the value of x and y?
X, Y IS a rational numboer an 3—2\/ﬁ , en TN € value o1 X and Yy

45,

) 17’ 26 ) 13’7 17
21 -l T A
) 35 35

X=——,y=
) 25 y 37

£&5) Harshith Institute \\
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G+amx (3+20m) _ X+ YJ =2 Arg e F @A

=38 J den ® 35
Factor ERT -
Ly 1B+ 10fIT+ 31T +22 _ 2x+yJil
-35
. x =|—37
L 3%+ 13J - xtydr 35
— 35 4= =3
35 .

46, The value of —= 200 [¥5-2__3
. e value O \/g_'_\/z_\/? \/§+2 \/7—2

1) 245 2) 7 3) 2+4/2 4) 2

28 (B+IZ +)  _ ([5-2) - B(JT+2)
(B - *

¥
2 J16 (J5 +55+0T) - 15 4 ~GA

v
grmif-F-f =1L

47. Th | f5— | - = | | to:
. € value 0 Is equal to:
1) - 2)1 3) = 4) —

5- s+2fi§ _ (8-2I8)
4 4-

l, 5—2-2 =

4
48. If m = a+b\/§+C\/§—d\/€’ where a, b, ¢, d are natural numbers, then the value of a
+b+c+d.
10 2)2 3) 4 4)1

4 x T2 -3, 4 (1+52-03) M
—_—— X -
+@D)+3B |4 z7-83 (1+J’i_)"-— J3)* Btalzn-%

> Z(1+Z-8) > J2 +2-8 = a+bJZ +cf3 -4J¢
O+btctd = 24140 +] =

— °
Ze)) Harshith Institute \
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49. The value of 53 +7+2-+/6 - f+\f NG is:
1)15 2) 16 3) 12 4)10

26+98—-2.45— 23 D Jz=l44

5.6 = |-132
6—-4 g 12 B
== 2.2%
Jg_ = 12.45
1o = 316
Jre

B+ T-[6 - 23 (@7 -R)
@+ -@)*
by 23 (FB+&-J) x@&+)
QFE-) x ¢ 2K+1)
5Bt WE-K- A(E+E-F) (28 +1)
/:6'

L*S'J"a‘-l-'tﬁ—-r - [4—J§ +Ji + 612 +J3 —12 -JE]

L 58 + 16 5 545 - 'i;f{—ln-h;f [iz ]

50. The val f7+3\/§—7_3\/§ lies between:
. The value o 3:95  3-5 ies between:
1)2and 2.5 2)3and 3.5 3)1.5and 2 4)2.5and 3
(+r28)-(6-25) _ 4B = 5= 923
&= A Blw 2 % 25
12
L3 b2
)1-5+J2+10 2) 1+/5+2 =10
3) 1+/5-v2-410 4) 1-5-/2+10
ﬁ: l4 (2
= 12 =25
JB= 2.2 3+2.2+28 L3

Jis=32 4y |+22+194-328 46-3.2 14 -

ST '
& Harshith Institute "\
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52. If (\/§+\/g—\@)><k =-12 then what will be the value of k?

( V2 ++/5- f)(2+f) 2) (\/§+\/§+\/§)(2—\/g)
( 2+\E+I)( ) 4) (x/§+\/§+\/§)
2=14 [9xK= =12 L

J5= 2.2

E=t (@Wx (d)x -> +ve Ang & &

e ae )= 53 .C-o.:) %
o Prg —

53. Find the value of \/1+ 201941+ 20201+ 2021x 2023
1) 2020 2) 2021 3)2023 4) 2018

JI+ 2021 x2023 = 2022

J_l+ 2020 x2022 = 2012]

Ji+ 2019x 202 = i202ol
54. (V6 + 1021 35) (6 ~V10 + 21 - 35 ) =2

1)13 2)12 3)11 4)10

{ (&-333) + (-T2 3 x { (®-3%)- (" -=)Y

L (&-Jm)" - (3 -m)t
Ly  (41-25w) - (31— 2J26) =

1 1
5 2+ 2 BB
1
1)1 2)0 3)$ 4) 2

-y + 1 b 2E -5
Z-$)+8  (B-8B)-F (G- &2

= A(H-GRps A(EE) - A(EN)

- aJ[5—3 4- 210 A ( 2-JdE)
= JB-d5 . o

—_— Iz

= (%)

d8) Harshith Institute \{
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56. If a= %,then (Vita+vi-a)=2
5 3
1) 3 2 g 35 Y 2
= _JE, ary +Fﬁ)1= A+ 16+ 2 [1-ar
a'*--—-—‘l'%- Ly 2+ 2] 5 2 2xL > 5

(e #IFE) = 3 ({Fa ) = f |

3 3 J2 - x
57. If X:\/ +£—\/1—£, then the value of ———— will be closest to:
2 2 x/§+x
1)0.12 2)1.4 3)0.17 4)1.2
X2 = 2-—3_]_3_ = Q- 22Xl - x= 4
| i = 1 =
EL‘.. - Gﬁ-132 S5 3-2J2 5 3-2482 2 o0-18
e & - lodF

cg \/\/74‘?—{\/7 Z_Jm:,)

1)1 2) -1 3)2 4) -2

Ba2F =JEH* = (B-1)
JE+ + [I5-2

Bt
2 = 2F+a5F o 2 M =2
J5 +1 (&)

G X=JT

g- -0 =
59. What is the value 13/(26 +15\/§) +\3/26—15\/§ =7

1)6 2)5 3)4 4)3
Qﬁit_+b_)‘5 = a3+b2 + zablat+b)

x= Yasren) + YCEEH)
i, '
¢9)) Harshith Institute \ @
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x3 = 25+~|§£ + 26~ |/55-l- 3% 3l g16—615 (1)

3= B2+ 3x1(x)
x3= B2+ 3x - fomoephom [X=4

60. If \/5x—6++/5x+6=6,thenx =72

1) -4 2)0 3)2 4)4
foom aptions » x=o
\IID-G + lo+6 = 244¢= & - X=2
61. If V6Xx—17 +/6x+17 =5(\/§+1), then the value of x = ?
1)7 2)8 3)6 4)5
@@= JF39F +J50 = 5457 = 5(;=3+) v =%

6 It x+\/x2—1+x—\/x2—1
S X=X —1 x4 -1
1)7/2 2) 4 3)7 4)14

=194 then x. ?

et o)™ + (-T0)°_ a0 (aH)24 (ap)%= 2 (q%45?)

P (=3
PR

63. If J5rx—J5-x =9, then what is the value of x?
1)5/2 2) 25/3 3)4 4)3
feom options = x=3
A2 + J2 = B3 & -3 - x=3
2JZ - J3 += '

J3q+2+43q-2
J39+2-43q-2
1)0 2)1 3)2 4)3

64. If P= then the value of P2 - 3pg + 2 is equal to:

P = J3¢42 +32-2
1
B¢t -J34-2
APPIY componenclo § dividendo

P+ _ J2e+a - Squaﬁrﬁ e+ 2 - 3%+2
P-1 Jag-2 (P-1)2 39-2

Harshith Institute "\
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APPlY agnin
®+02+ cp-D> _
P+ 2= P-1D%

3L 5 Z(P241) _
2 g4 A
x

p*—3pq +2 ::

S pPyi=2p9 =
b%3pq +1 =o—

b++/b? — 2bx o
b—vb2—2bx

65. What is the value of x, if

(02 Surds & Indices §.

)a+p atl ) (a+1) ) (a+1)
A—ppla componendo § dividendo
Ab . _ o+l 8qqar'lr3 b2 = @A)
ZJe%-2bx a-l b-2bX  (q1)>
Apply agaln
ab?-2bx _ 2(02+) 5 »bdibx _ a24]
abx 4a bx 2a
¥( b-x az+| lb___.| - a*+l
Fx = T 2a 7 x 2a
b - ,q_:il_ | b = w xT= 20b
x 20 Lol I 2Q Lo.-;—[)’-
66. If 5¢1- 5x1 =600, then what is the value of 10>?
1)1 2) 1000 3) 100000 4) 1000000
qu'x —5 even no of =zexo at +he end
5'1+—1 - 51—" — 600
2= 600 " X=3
A sT_ g2= 626-25
- 1o € = |000000 |
R g¥s'- 5% = &%(s- l?) = 600
o & 5i — &X.ﬁ—- = |28
24‘ — 6°° ‘+ it
57 (&) 22
51= 53 i l :3
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67. If 24*+27° ‘¥ =972, then what is the value of x?
1)2 2)3 3)4 4)5
Lx-+7
217 + o3 ’ = 912  Only[x=2]possible
21?4 33%3 HE=
3 % = 21%+3% = q2942¢3= 932
68. If 25¢1 = 52¢1 - 100, then what is the value of x?
1)1 2)2 3)-2 4) -3
from QHons > x=2 25 = |25-00 (V) .- [X=2
-1 -1 1
69. If x(2x + 3) = 90 and 7y? +2y? — yi (x and y are positive numbers), the what is the value of
(+y) =7
1) 45 2) 109 3)117 4) 126
A (2%43) = Jo g
) TN J—
A=6 J_H_'
32’-1-81: 3642 = |t
70. If 92¢1- 81x1 = 1944, then X is
13 2> 3 = 5=
) ) 2 )5 )3
“zom eptions () 4° o g q5-q+
b1 = 3 €W
1 = Y
® g% -8t 5 exi: aq-x-z-_ - ey 25
— 3 ups 1- 3= @ r
. .
71. gx_% _22X—2 =4X _32X—3 then X is
03 52 33 ol
)5 ) ) 2 )3
3
1. 04 i
(b)x Cd.)’( zxé 5?2 g CX) ﬁ%ﬁ%mno-f,
[ \ o
WF 9= &Y F gy =84 D
Clx=23
Y,
72. 1f 5% - 3y = 13438 and 5! + 3*1 = 9686, then x + y equals

1)11 2)12 2)13 4) 14

‘; .
¢9)) Harshith Institute \ @
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3x 5% 3% = 13428 x 3 =40314

— 50000

l_
3x5‘x'+5 [
X L B x W Wg,;zs

b =

3xs"+—.5;—-9 B C3+s)=’ =

Ly, 5™ = 2126x5 — st= 5% -

- s5_ 39 = 13438 — i5625—28= n438

' o
> 218% =80 > 3t= 23 - [§=7 i
3°=
Aty = 6+7= 31._.\:4;‘3*
s - 3ld = 13438 s 82 5 12438 33= 23
; - ,.: ” 5= 156625  37= 2181
x=6, Y=+ s | 2f=1a
73. 1f %3y = 2187 and 23%2% - 4 = 0, then x + y=?
1)4 2)3 3)5 47
stc-rg - 3-"1' 2314-9—3 4 Q-zxa
Soax+y = F <o 3% +2y = 22y
2x@+ =7 3x24+2x3 = 2x2x3
6 +6 s 12

x=a.y=3 o

74. Let 0 < x < 1. Then the correct inequality is

1) x<+/x < x? 2) Ix <x<x? 3) x? < x <X 4) JIx < x? < x
X = 0258 (at) for nas blw 0 and 2

= o5 (1) N2 — decvease

%2 = ©0-0625(C¥) [N — |Increase.

~2 e 5 < 3

75. If 3= 4y = 127 then z is equal to?

X
1) xy 2) X+y 3) » _:/y 4) 4x + 3y

q Harshith Institute "\
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&Y
9(= Pyl = 4;‘- . — ‘é.( -'9_
3 : 3 K.%]MP‘H 2X4 = K*¥xk

K

127 = 2= g;*_ K-JL _ ﬁ"'-%
g big ds = A g+x 1 " -
= 4 B Tay TR = Fs &%"
z'xq' = |2 * 2X= 3¥= 1%
[ = ®, @ _ 1.0
- +J8- —%: 2¥x% 3 12
: 3 4.-3‘-.:: !
STy T =

76. If 2x = 3Y¥ = 187, then which one is correct ?

1 21 2 1 1 1 2 1
1) —+—-=-=0 2) —+—+-=0 3) —+—+=-=0
X y z X y z X y z
al x 32 = 18!
A 3 K - Lo+ 2 <
X = = -8- 4+ L = (@)
1 1
77. If (5.55)% = (0.555)Y = 1000, then the value of ;‘; is
1)3 2)1 3)1/3 4)2/3
, = B
555 = 100 % |oooJ‘5 = oo % ]
6655 = mm'b' . TEN
lo = luooi-é x —3 - -"E'
@ 5.55 —jo - (5—55 — oo —> 555 X ©.655 = 000
0555 osss)

31 341
78. If2x-2= —and & -4 = ——,the(x-y)="?

6 12

1)3 2)4 3)5 46
0?*_ X Vg & gNpade 2L
12 "
A ays 3L
gl Gl D! oA

Pt -~

‘; '
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16
C,8)= 34 X 3
* (a5 / & 2= &t = 'G*%_x_L-: 16
Haxsad) x &= B0 . 5 il
) -3l
(2% +29) = Y= BTC = 4.y
i) £ »* 12 3
x
2 - 1x6 =32 X-Y 5
2 3T 2 =2 x-y=5

79. Ifax=(x+y+2y, a=KX+y+ 27 a=(x+Yy+ 2) then which of the following is correct?
D3x+y+2)=a 2)X+y+z=2a

a
3)x=y=z:§ X=y 22
mulkiply all equahions
XtY+T = L = x+y+
a (xtyt2) > 248 ?L
a
3

fox=yg=z > [xoymze 2

80. If xz =1, y2 = 1024 and ¢ = 724 (X, y and z are natural numbers), then what is the value of
(z+1yyt 2

1) 6561 2) 10000 3) 4096 4) 14641
x8tt =1 — x=1
+z 10 =
Hx"'t __;lolq_,_). a - 2 —> 8-':'-2.9 2—3

1+
A = 929 —> 2t = 9% > g .y=2

3:12 UD)‘*-_? ) e~
2.8
6+2+/3
81. y|33-19v3 )
1) 5-33 2) 5+33 3) 7-343 4) 2+33

64248 23+105 . [ (¢+253)(33t193)  33%=1089
J 33-13J3 33+ 1943 Lq_[;'f-_: jo83
-5 <

— o
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> | (@+HE)(2B+193) > [156+9%(3 Ba+30J3
\l( ) l._.—___-3 > |
-

VTed6 o NTNE e b
\/*\/7811 \/7\/7ten|n

1) 17498 2) 17550

82.

3) 17654 4)17576

ol

=b o at+l= 20040 = 26
(@)

=)
a2 . b2 A, | = 26> 3x26 = [|7998
Tt T T

(=
\\ Al
_ 1 1 1 1 1 1 «9\/@?’
83. What is 1+22 22+ It S+ +.+ 1+20072+20082 equal to ?

1 1
2008 - —— 2007 - —— 2007 - 2008 - ——
2 2008 2) 2007 3) 2008 4

[+ttt = 3 0‘*"29"’('*5*0*;’:)* -« += 206t Hime
L 2°°4+(,L+.1.+.!.+------+20b'++&m.9

|
A
l> 200 *(xz ;l,ﬁ *’j,}';’* aenxms)

- ate(=d) = g

V/0.6912++/0.5292
J0.6912 —J05292

)15 2)0.9 3)15

802= ¢400
g5%= 1225

T

[_
o

i
fH
Flﬁ "i"‘

84. The value of

4)9

eqizg 832 g 5295 132

Ba+138 _. 1586 4|66 & |15 I
______. — — 3
§3-13 [

8'1mpli-fa bd 2 > [57¢ FF =
To W44l - 2¢+2l = 45 =[6]
516-J44 24-2 3

1)8 2)12 3) 36 4)6
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X= 2 aras. °0 multiply sexies with enly
X*= 12X one numbeL
AN same no’
86 \/71/71/7,/7 ...... o =343 ttheny =7
1) 4/3 2) 312 3) 5/4 41
3(Y-) - ’ 3
= 3D 5 gypy=1 - a3=2 “[=%) ZAIND
oy
al via. 1B
o\ S
87. {l64%/643/64 ... =7 s A
1) 4 2)8 3) 16 4)42
X =
Jersfa - > x= sfax
3= a3
HE= €4
x =
88. Solve %/165 16516........ o ?
1
1)2 2)3 3) 4 4) 165

> B 2 4w (% 3

89. If ym _%/y./x/x » then what is the value of m?

Alw
ENGIEN|

3) 4)
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0. a7 T N =7
* = \121+JE1+ |21_-..-. D
2 . =
= = 2 XP= 2% =3
* = J‘gsjc > xX= 2 =
P
91. x" == then x = ?
2
1) = - oL NES
)3 I ) 6 ) 35
L
x* = L& - x*:_}_;, 1.___@_.)4-_ T%
X&ﬁ ..... 8 1
92. If X =g thenx=?
1) 612 2) 618 3) 6 2 6
&-'d S e
x & 5
(ﬁxﬁy =% 7 7 x & = Lxg
w7 | < ) |
JSE N _6” -» JE = —é' = 3’_’:' L= %.
, fa.
X = (_-é-) = 6—11

93. \/12\/12\/12\/12\/12\/1_2 =7

32 6 3 63
1) 193 ) 1p0 3 10% 4 190
G—I -
e
94. §/11\3/11\3/11\3/11%/1—1 g Tep IG5 2
£ s 123 119
486 489 509 477
i L =
”:zqa"' aV -t Tty
12| n
L% 243 2K 2k = .I_.._I- — K= 12}
1 = 1 243 486
Harshith Institute "\
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1) mn—yanb 2) m\n/% 3) mn—ybna 4) mn+yanb
m .
Ho'= QN
+* = mn-—l|anb
XM= a"x b
96. Find \/2x§/4x§/2x\3/4x\3/4 ....... oc =7
D2 2)2 3)4 4) 42

2%3-1[ B 4- = 5|51 =
= JarJa@rras-w = JFF +1 =

2
JE-ICL- L= emi sia) = Iq-q.q-‘]l--i - 3
x—Y=1 T'GJKe -iun? factoss Dgf- Qa whas; diff
Ay =a 1 lke s6gy 12y
Then X = Lm,a% factor
' = =Jaar y = smalloe fador

1)5 2) 310 3)6 47
50< 65 €

98. Let x=\/272+\/272+\/272+\/272 ...... to infinity;

1) 16 2) 413 3) 17 4)4.35

TE< 1= Lol

99. What is the value of 2+\/2+4/2+,/+ ..... =9

1)1 2)2 3)3 4) 4

2+2 = [&

— °
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1)6 2)7 3) Betweem 6 and 7
g ;
423 = [6
\/210+\/219+\/210+
=7
\/156 J156—/156—....
1)1 2)1.33 3)1.25
0 \ & 5. = 5 _ 25
4 \3X 2 T
\/8\/8\/8\/— *\/56+\/56+\/56+.... o
02. ““ thenb=7?
\/2\/2\/2\/—*\/20—\/20—\/20—....
n 5 3 g 22
) 32 ) 32 ) 32
3 7
e 3l 1—15 ax 3l
= ﬁ, 8 X g9 = = 2 2 x 9.1%
gt * &
B, L 95 S
L AP T U T ke Yk b“%i—
103.Find \/31+\/31+\/31+\/31....oc =7
5.5 -1
1) 55-15 2) 25\5+05 3 —,
[+X31+ A P
e Yy SIAN - 2585 + 05 |
2 = )
104. Find \/14+\/I4+\/14+\/14+....m =7
1)4and 4.5 2)4.5and 5 3)3and4
JexeH - 5T 4+ Js3
= 2. s@
Ba &
ST+ 8+
— X —-5_J- ¥ |4 245

4) Greater than 7

4)15

N 231+1

2

4) None

£&5) Harshith Institute \\
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105. Find \/19—\/19—\/19—\/19—....oc =7

J77 -1 V19 +3 J77 41
1) 2) 3)
2 2 2
. [4-><IS'H waf = ,I‘T'l =]
2 2.
106.1f A = \/10_\/10_\/10_ 10— ... o« then which of the following is true?
41-3
1)A=25 2)25<A<3 3) \/_2
A= Jgq1 I 6‘;_! =226 % —_[;l o =

2,

25<h <3 |

4) Between 4 and 5

4) Greater than 3

107. a=\/13+\/13+\/13+\/13+....oc and b:\/13—\/13—\/13—\/13—....oc ,then which option is

true?

1) a+b+1=0 (b) a-b-1 =0 (c) a-b+1 =0 (d) a-b+1 =0

a-b= 1 s la-b-l=o

oS ) ety

e pet 1 U,

s 14+ B+ = B3 - optien(b) v/
. 2.

109. Find \/35+ 2\[35+\/2\/35+2\/35+.... oc =?

1)6 2)7 3)5 4)6.4

3

12= 365+ 2X

%2 X —35 =0 J—Eii't_%- = M=
=)@+ 8) = O
x="h —}(

Harshith Institute "\
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110. Find \/154+3\/154+3\/154+3m

1)13 2)14 3)11 4) @w
factor (diff=3) - 154—<:+ i (B
111. Find \/154—3\/154—3\/154—3\/154— ..... o
1)13 2) 14 31 4) @w
IS4-< 14 X1} I Y
112. Find \/3+4\/3+4\/r B =2
1) J7+2 2) 24/7-3 3) 247 4) 447
l‘ix3+~4°- t4 o 20+4 o [Fra
Py 2
113. Find \/5_2\/5_2\/? N
1) J2+1 2) 6 -1 3) 225 4) J5-2
[4x54+2> -2 > Q-4 > YA
Z 7
* X“H"ii M=y +any = ag
lﬂ_ x = £+l
y= Je-I

114. P:\/11+3\/11+3\/11+3\/11+3\/11+...oc and - 11—3\/11—3J11—3J11—3\/11—...oc

then P+ Q =7

1) J47 2) J65 3) Ja1 4) 53
‘:‘9*7"?1’ P+& =\\LP-—&)2+ 4-po. = | [B3
Q = L

R  pra= ,léhclu—aﬂ = J53
. g
$) Harshith Institute \
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J13-1 J13+1
(@3 (b) V13 (c) > (d) >
Juxu=s +l =[] 13 +
i -
116. Let x:\/6—\/6+‘/6— 6+ .. o then x equals
J21-1 J21+1
13 2) \/ﬂ 3) > 4) >
..|4-X6""3 -"I = m -1
o 2.
171 o= \12+13y12+13¢12....« 2ndq=12-13\12-13/12 ... thenfind p -+ pa?
1) 24 2) 25 3) 26 4) 27
P-& = 13 SO P4 +PL = 12412 =
PO = 12
118. 'fx:\/x+2\/x+2\/x+2\/x+2\/x ..... o then find x?
1)1 2)2 3)3 4) 4
x= [§xtq +2
7
X= a3 +2 = Jx#q +1 eption ¢ %’cqu%' thie
2 ( s Jx=3) 2
e - - I-ﬁu—_)!
-l = [+

Squasing both sdes
(x-Dr= 24 > XEP-2x4f= 4/ -

x2= ax - T o

£y R
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119. Let x:\/3+2\/3—2‘/13+2 /3— . then x equals

D1 2) 72 3)2 4) None
[4x3- 3. 2% +2
4 5 > o+2
2 2
120. Let x:\/10+3\/10—3\/10+3‘/10—....; then x equals
J19-3 J13+3 J17 +1
1) 2) 35 3) 4)
2 2 2
Jaxio-3.32 +3 = |]13 +3
2 2.
S ”\\
121.\/ \/ _ _ _ > 2
T T- T+ 12T =2 @@ 2

G |
'\‘MA‘ Vwise I~
\ \ y
1) 15 2)4 3) 3+2“ 1> 4)3 M

1= J4xF-3%27 +2 Jie +2a S
= > — 2 Y

122. x:\/7—2\/7+2'/7—2 /7 + .., then x equals

— 2' -—
x = \\Lm:l--BKQ 2 Jig =2 2> 2 > |1
P 4 P 3
123.Find §210+ $/210+ 4210+ ... ?
1)5 2)6 3)6.5 a7

13 ape ¥ Sk &Y 5 a0 middleno’ 45 Ans =[]

1.
X =Z‘:\2!0+ 3f204 T AT s 2w = 210 -~ (x-ljx otr(,x-[-D:stﬂ
x= 3f2crx Gy x3- 2j0tx x(x24)= 210
[x=6

124, Let x:\/7—2\/7+2«/7—2‘/7+....; then x equals

1)1 2) 2 3)2 4) none

Fi-axat -2 5 &2 3

e

- &

— °
Ze)) Harshith Institute \
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125. Which among 2%2, 33, 44 @Y and 12Y*? is the largest?
1) 21/2 2) 31/3 3) 41/4 4) 121/12

LcmCz,g:q-,e,lz) =19

_'—-

. 6 9 3 v !
- 2 4- € 5, 12 =
b ’ Ls smallist = |2
Lanﬂu'l: = 3%
126. The greatest number among 272, 5%, 112*and 3% is
2) 5% 3) 11 4) 3%

1) 272
Lem (12, 36, 24, 60) = 12
divide aolL powers by 12

5

6 3 ¥ 2
27, B T Ly ngut = (3

6o

127.The smallest among the numbers 7200, 9150 6250 gnd 53 s
1) 7200 2) 5300 3) 9150 4) 6250
divide all powes by So. ' _
.. amalist — g® g

S8 q® &%y 56
Langest > 56 -
128. The smallest in, (\/§+\/§)(ﬁ+\/g)(\/ﬁ+\/§) and (x/ﬁ+ﬁ) is:
1) (vB-++5) 2) (V7 +6) 3) (V10 +43) 2 (VIT+2)

dum= congtant = I3
Csmalst = T +Jz C diff max)

lrgat = F+&  (diff min )

129. The smallest of (\/ﬁ+2\/§)(\/ﬁ+ 2)(\/ﬂ+\/171)(@+\/6) is:
1) (V23+243)  2) (V31+2) 3) (V24 ++11) 2) (V29 +5)

(Bt+8@), (31+03) » (3 +32) » (EF+0T)
> (P3HZ)— Lagat
Z (37 +F) — smallest

130. Which is the greatest among (x/179+\/ﬁ),(\/§+3\/§),(\/177+\/§),10?
(@) (V19 ++31)

@ (Vi7+433) () (V23 +3V3) (©) 10

Harshith Institute "\




(T+33) , (E3+8), (J7+ §) , (I35 +03)
~ langat = 10 smatlest = (JF7 +4J33)
131.The smallest of (\/@+2ﬁ),(\/a+6),(5\/§+22) and (@+\/@) is:
1) (V61+6) 2) (V69 +247) 3) (53++/39) 4) (/58 ++/39)
(Jev+ =), er+J5), (75 +32) , (J5E +39)
smalt = A5 + 22 > |5JS+5‘5. ]
132.Which is the greatest among (\/ﬁ+\/170)(\/%+\/§)(\/175+4)(\/172+@)7

{g‘ﬂ@p (02 J_Surds & Indices §'

1) (\/ﬁ+\/ﬁ) 2) (\/%+\/§) 3) (JE+4) 4) (\/E+\/%)
(¥ +I®), CJ§5+E), (55 +J€) , (d= +12) =
& &y
&) N
product = congtant o SUMpay = Lﬂh‘a'%t o VIA. \=
S min = SRS
s Laget no'» [Fo+lg g
133. Which of the following statement(s) is/are TRUE?
I V11447 <10 ++/8 . V17 4411 > V15 +13
1) Onlyl 2) Only Il 3) Both I and Il 4) Neither | nor I1.

T () I (%) oonly (1) i3 brue

134.Which of the following relation(s) is/are TRUE?

1 (V15+47) <(2V22) 1. (VA7 ++6) <(V20 +2)
1) Only | 2) Only Il 3) Neither | nor 11 4) Both I and 11

5407 < Jzz+ 2 Q) only (V) 18 Lrue.
TGF+I3 ¢ otz
135.Which is the greatest among

(VI5 50, (i3 - B . (VI8 7). (17 ~B)?

1) (V15 -+10) 2) (v19-6)
3) (V18 -7) 4) (V17 -8)

.
¥ Harshith Institute \
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5 5 19 08, T > wyet=[19
Jo, Je ,J7.,J8 — smalust=J¢
o Laxgost— smallst = Lagut -~ Jig—J¢
136. Which is the greatest among
(738, (5 -4) (4225, (55
1) (Vi7-14) 2 (V19-4) 3) (V22 -+19) 4) (V13-+10)

>
é{‘

2 3 3
? —_— _—— N 3
Ja+JT JI9 +J1< 2=+Je 5 +Jie

© amnaAst denominador - Jig +Jio

Giveotest = |12 -Ji°o - MmN sumM= |3+lo= 23
~ Langut = [iz —(ioc

137.Which one among the following is the smallest?
1) J201-+/199 2) J101-+/99 3) \/301-+/299 4) /401 -+/399

MAax &Um = 40|+3qq= 800

S amalut = JFo) — (399

mMin 8um = |o|+qq = 200 “ 11\:%
v
Largat = [jof - [q9 VJA )g
\ A v‘
138. Which of the following statement(s) is/are TRUE? M
l. 333> 3% Il. 333 > (3%)
1) Only | 2) Only Il 3) Both I and Il 4) Neither I nor 11
a o 3 "
E> @ <@ - zew
k| o
¥ 33N o aC (x)
“* Neithex T No» IC.
139. Which of the following is TRUE?
L s T>425 W JT>A>435 L JT>4a5>31 V. 42557 > 41
1) Only | 2) Only Il 3) Only I 4) Only IV
“_é‘ s ‘1* 3 4“5* LCIT\CB, Q.,q') =12
12 12 1 I x7) 2
S8 L)Y (el T s G
- = @5
3 3 2
> 1] > + y 48 @4.3) > @;5)27 Q;U"'

q Harshith Institute "\
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g g T
¥ Q'?')L ’ 03).2 » 45 x45 . F 435 > 3u
> (120% (3+3)” v 35>

140. Which of the following statement(s) is/are TRUE?

l. (65)1/6 > (17)1/4 > (12)1/3
1. (17)1/4 > (65)1/6 > (12)1/3

. (12)3 > (17)Y* > (65)Y°
1) Only | 2) Only Il 3) Only I 4) None of these

L 4 3
65 L, 3% , 19.-5

L2 12 12
"')I(SSG_) 3 Cl"-f*) 3 Q'fh)
2 ,
> es5* 5, 133 , 2% 3 65 1 144
657 1 #xF 1442
65%° i y* 1442
65>  =gs* 1442

02;5 > (l'-f_)# p 4 Cts!i)-k

141. Which of the following is TRUE?

1 1 1 1 1 1 1 1 1 1 1 1
> > | —>——>—— = o AN >
"2 W9 5 " W2 s ”"ﬁyﬁ@'vﬁmm
1) Only | 2) Only Il 3) Only I 4) Only
SR o LR
ol & <
Take powerds = |12- a % =
% gaT 2q3 5€
LI (S I ol
44 2q%‘fz 125% s ?sw. 74—I1W
144> 145 *  j25%

142. While multiplying three real numbers, Ashok took one of the numbers as 73 instead of 37. As a
result, the product went up by 720. Then, the minimum possible value of the sum of squares of

the other two numbers is-
1) 41 2) 40 3) 104 4) 36

QbC_?.G) = a0 e AQxXp = =20
Qb = 20 ﬂtxéﬁ = 20

S (@2 +5*)min = 20+420=[40)
=T, '
d9p Harshith Institute \ @
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143.Find the approximate value of these?

1) J11 =3.28.578
3) 3/56 =3.783

2) /144 =10.666
4) 474 =2.892

SY[T C
. 3+~3‘__r > [3.28

e
.IIOD

b Juy 5 lo+ ¥2% 5 Toee
AlEY il

C Ql

D af¢ T 5 o+ 2. 5 [
64 3%

d

) +J"*““<.H“ -> o4 58 5 (589
tl-a‘l— €8

144.The ascending order of (2.89)°%, 2-(0.5)?, \@and 3/0.008 is
1) 2-(0.5)°,+/3,%/0.008, (2.89)" 2) ¥/0.008,(2.89)"°,2~(0.5)",\/3
3) %/0.008,(2.89)"*,+/3,2—(0.5)° 4) /3,3/0.008,2-(0.5)",(2.89)"

@‘Sq)o-B - 0_:!_)'23(0-5 L Q"DI - &

Q—Co-sjzz 2= 028 = -6
3= 113 . Asanding csdes > 6.2 5 1%, 1133, 1715
&]6@0% = 0-2

145. Which of the following statement(s) is/are TRUE?
l. V121 +4/12321 ++/1234321 =1233 1. \/0.64 ++/64 ++/36 ++/0.36 >15

1) Only | 2) Only 1l 3) Neither 1 or Il 4) Both I and 11
L= ll+il+ )= 1233 )
> 0.8+8+6+06= I54715 (V)
Both are cowrect
146. Find the value of x, if 1% 4 g3 — g5Y*
1)4 2)3 3)0 4)2
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2 I 3 &7 root A fawaar s 1wvational no- B Add FET At
o JEEMIT - ¢® 4 ¢a° = ¢5°
'+ 1 = 1 ( Not pessible)
onlY- 4 1 pagsible -
16563.65 4 a P\d—{-haaom'br'lple;t

162 + 63%= €52 L JE=a o [x=4

..#

147.Find the value of X, if 10V% {10¥% 4 29¥% = 9g¥x

1)4 2)3 3) 16 4)2
Put 4 and cheek —» |Q.2+-|52+2|7- - zqz
l4g+_56 +484 = T8Y = 292
x=4 |
148. Solve \/21+§/59+\/16+3722+\/E 9
1)4 2)5 3)6 47

L_._E;—:s golve fvdm back side
| )
Jic¥3 =5
. |
3595 = 4
Arg = [5 ]| A

[(1.331)"+(1.331) "+ (1.381) | %
9 T(0330) "+ (1.330) "+ + (1330) |

221 121 241 11

D110 100
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—

3

- <
[QMW‘P C|.33|J—'GJ i ix]
133" [CIW.. + (_1-33:)-‘_]

; — 1 --—-H:::r 221
(:35:) LT TR 7 1o

150. If a* =+/b,b’ = ¥c,c? =+/a , then find xyz = ?

1 1
D% 29 3 2

G.I:J_l'.: b'= c3
L C = Q=R

b= a*" Lazx)&= Lo_?rl'v_) )

24 37 _ —
Q = a ot 21*3--—-6—2—_ - j'gz"'ﬁ

—h

151. \/423x 424 x 425x 426 +1 is ?
1) Rational number  2) Irrational number

\\q&ax 4y X 4a5 X 4R6+| —> perfeat squave No-

Rational 1nte_34r

152.If (x-2 a) (x-5a)(x-8a)(x-11a) + ka* is partfect square then k = ?
1) 49 2)81 3)64

Commdn diff of 4 terms = 3q
To make it perfect square 5 (3)' 2 added -

o kaff= aigf [k=s1 ]

3) Rational integer 4) None

4)0

v

153.If x(x-1) (x-2) (x-3) + 1 = k?, then which one of the following is a possible expression for k?

1) x2-3x+1 2) x2-3x-1 3) x2+3x-1

4) x2-x-1

C:r.xn’ﬁ-d’jz -> Cx(x—3)+1_1)2-> (_3;2._3:.1-01;-

& K= a2 3x+1
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